NEW FUNCTIONS FROM OLD (1.3) NAME

1. Give values so that the table represents an invertible function
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2. For what values of A and K will S(t)= A#> =K be a one-to-one function?
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3. Determine if the following functions are invertible.

A. f(d) is the amount of sales tax on an item of clothing that sells for ¢ dollars.
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B. g(¢) is the number of students waiting in line at the UA Catcard Office on the first day of classes
as a function of time since the office opened that morning.
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4. The life expectancy, L, of a child can be modeled by the function below. The variable y is the year of birth in
relationship to 1980. For example, y =0 corresponds to 1980.
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A. Give a practical interpretation of L(10). [_Cro ) — 10 1T 96 Y —~ /7 b.> § é’
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B. Give a practical interpretation of L™ (78).
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C. Find the values of L(10)and L (78). g ¥ /Kl (L/Jej{fd .
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